Name: Date:

Teacher: Class:

Multiplication 610

So many things are possible just as long as you don't know
they're impossible. - Norton Juster, "'The Phantom Tollbooth'

Multiply these numbers.

L 2x6= 6. 10 x 1= 5L 12 x7 = 6. 12 x 8=
2 12x11= 27. 5 x6= 52 9x1= 71 x9=
3. 7x7= % gx12= % 1x10= 7% Gx1l=
4 4 x12= 29 2x9= 5 8x4= 9 8x8=
5 11 x10= 0. 8x1= 5. 12x9= 80. 9 x4 =
6 3x6= 3L 12 x1= 5. 9 x12= 8. 5 x5=
11 x8= 32. 5 x4= 5. 5x10 = 8. 10x5=
8 6x8= 3 11x11= % 1x8= 8 1x2=
% 10x4-= ¥ 0x4= 9 3x7= 8 gx3=
0. 3x4= % 2x10= 60 gx5= 8 7x12=
1L 7x5= % 2x7= 6L 2x8= 8 1]x6=
2. 9x9= 7. 0x2= & 1x12= 8 gx10=
12 1x3= ® 5x12= 6 2x12= 8 12x12=
4 10x12= 29 1x7= 6 Qx6= 8 12x3=
5. 4x4= 9. 11x12= 6 10x8= 0 gx3=
6. 0x5= 4. gx9= 66 Gx2= oL 3x12=
7. 3x5= 2 10x11= 6 O0x8= % 2x4=
8. 3x2= % gx12= 68 9x10= 9 12x4=
19 12x2= 4. 4 x1= 69. 11 x5 = %. 4 x5=
20 1x1= 5. 11x1= 0. 11 x3= %. 2x5=
2l 4 x7= 46. 12 x 6 = 7l 4x8= %. Qx3=
2 2x1= 4. 4 x10 = 2. 10 %9 = 7 4x9=
2. 6x5= 48 7 x4 = 3. 5x9Q= 8. 11x7-=
2 3x1= 49. 1 x11= 4 6x3= 9. 8x7=
25. 8 x 2= 50. 10 x 10 = 5. 0x7 = 100. 4 x 3 =
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Answer Key Date:

Teacher: Class:

Multiplication 610

So many things are possible just as long as you don't know
they're impossible. - Norton Juster, "'The Phantom Tollbooth'

Multiply these numbers.

L 2x6=12 26. 10 x 1= 10 5L 12 x7 =84 6. 12 x8 = 96

2 12x11=132 2 5x6= 30 2. 9x1=9 7 1x9=9
3 7Tx7=49 8. 6x12= 72 53 1 x10= 10 8 6x11= 66

4 4 x12= 48 29. 2x9=18 4. 8x4= 32 9. 8x8= 64

5> 11 x10= 110 30 8x1=38 . 12x9=108 8 9x4=36
6 3x6=18 sl 12x1=12 % 9 x12=108 B8 5x5=25

11 x8= 88 2. 5x4=20 57. 5x 10 = 50 82. 10 x5= 50

8 6x8= 48 3B 11x11= 121 58 1x8=8 8. 1x2=2
% 10x4=40 34 0x4=0 8. 3x7=21 8. 9x3= 27
10 3x4=12 3% 2x10=20 60 8x5=40 85. 7x12= 84

H 7x5=35 % 2x7=14 61. 2x8= 16 8. 11 x6= 66

12.-.9x9=81 3. 0x2=0 62 1x12=12 8- 6x10= 60
13-1x3=3 8. 5x12=60 6 2x12=24 8 12x12= 144
14.10x12=120 39 1x7=7 64 0x6=0 89. 12 x3= 36
15 4x4=16 4. 11 x12=132 6 10x8=80 %9 8x3=24
6. 0x5=0 4. g x9= 54 66. 6x2= 12 9. 3x12= 36
1. 3x5=15 4 10x11= 110 - 0x8=0 % 2x4=8
18 3x2=6 ©. gx12=96 % 9x10= 90 % 12x4= 48
1912x2=24 4 4x1=4 69. 11 x5=55 % 4x5= 20
0. 1x1=1 4. 11x1=11 7 11x3=33 9% 2x5=10
2. 4x7=28 4 12x6=72 - 4x8=32 % 0x3=0
22..2x1=2 A7 4x10=40 72 10x9=90 9 4x9= 36
2. 6x5= 30 48 7x4= 28 3. 5x9= 45 8. 11x7=77
4. 3x1=3 49. 1x11=11 7 6x3= 18 9. 8x7=56
2 8x2=16 5. 10x10= 100 75 0x7=0 100. 4 x 3= 12

© Facilitators Ferriswheel WS#:Mult610 Score:



